Three Dimensional Geometry - Class XlI

Related Questions with Solutions

Questions

Quetion: 01
A plane P1 has the equation 2x — y + z = 4 and the plane P) has the equation x + ny

m
+ 2z = 11. If the angle between P1 and Py is g then the value(s) of 'n' is (are)

A.7/2
B.17,-1
Cc.-17,1
D.-7/2

Solutions

Solution: 01

P :2r—y+2=4
Byrx4+ny+2z=11
Ty =2—j+k
e =1+nj+2k
m ﬁl'ﬁQ
COS — = ~5— 55—
3 i |ty
1 4—n

2 /6(5+n?
n2 +16n-17 =0
[n+17][n-1]1=0
n=-171

Correct Options

Answer:01
Correct Options: C



